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1. THETRAIDEHRX (A)

i - - =

—ATHE 0~6 7~18 0~18
PN 152 162 314
Rh 36 71 107
EAT 10 15 25
Erhf 20 25 45
AT 0 10 10
WHEH 10 15 25
RRETD 5 0 5
[Stish 15 46 61
HiFh 0 0 0
SFOH 5 5 10
AT 36 46 82
FRATH 15 20 35
J\EB 10 15 25
RIEHT 0 5 5
=B M 25 15 40
[ESNED 10 20 30
AIAEET 15 0 15
[N 5 10 15
KE™H 10 15 25
FMEH 25 10 35
HEEH 15 5 20
HaEH 0 10 10
PR EH 0 0 0
WEGT 15 30 45
EiEm 10 0 10
=ah 0 0 0
BHET 0 0 0
E PN 20 15 35
REh 10 5 15
Mo {ERR T 15 0 15
XHH 5 5 10
EEN] 0 0 0
EHEmT 0 0 0
BEZAET 0 5 5
=5 ] T 0 0 0
HE ER AT 5 0 5
H FRET 0 0 0
MR EE 0 15 15
(L T 0 0 0
AFHET 0 0 0
A Eg AT 0 5 5
T ERBRAT 0 0 0
PN G 0 10 10
KERRE (%) 0 10 10
= 499 620 1,119

* THHET 44 1~ 83
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2. EERBRZEEHHBNOFHRS

(A)
Fin
0~6 7~18 &t
HEERBREEENAE

€102 EEACERERESEEN 0 15 15
C102-2 |EEMREMIEEEEN 0 0 0
103 AEMRBEESEEN (F7/ —EHEXRELKRE) 0 0 0
103 EERRBEEGEEEN (Z04) 239 178 417
104 EEPLHIRKELREEEN 10 20 30
€105 EENDPREREXRZIEEEEY 10 20 30
C105-2 (HEE/NEBREXRBEEEEER 86 76 162
C105-3 |EEFEWFRERERBEFIEEN 0 0 0
C106 EEBCEREEEEY 25 91 116
C107 |(EEAIFRiFEEEY 9% 137 233
C107-2 |EEFHIEEMTREEIEEEEN 1 0 0 0
C107-2 |EEFRBEMTREEIEEEEN 2 0 25 25
c108 HEBHESSEEEEEER 0 0 0
€109 EERLEYEEVNERTEEN 15 30 45
110 EEACRETEEIEEN 0 0 0
C110-2 |EERBFAHEELRFEEEEN 0 0 0
C110-3 |EEREMBRERREARESEEN 0 0 0
Cl10-4 |EENBREHERFEEIEEEEN 0 0 0
c111 EEMSNEEREREEEN 0 0 0
c112 EEREVREERIEEN 20 30 50
c114 EEHAMEEREVLERSEEY 0 0 0
C116 EEEAREMATORE CGERERY) BEEEl 0 0 0
c117 EERBIRERSEEY 0 0 0
c118 HEESARESRAIEEETEN 0 0 0
c119 EERIIMMECREREEEEN 0 0 0
&t 501 622 1,123




